[bookmark: _GoBack]Week 7 – Electricity Higher

Measuring current

[image: Two circuits, both with a cell, an ammeter, and a lamp. In the first, the ammeter is connected before the lamp. In the second, the ammeter is connected after the lamp]A device called an ammeter is used to measure current. Some types of ammeter have a pointer on a dial, but most have a digital display. To measure the current flowing through a component in a circuit, you must connect the ammeter in series with it.


A circuit with an ammeter connected in two different places, both in series with the cell and lamp

Measuring potential difference
Potential difference is a measure of the difference in energy between two parts of a circuit. The bigger the difference in energy, the bigger the potential difference
Potential difference is measured using a device called a voltmeter. Just like ammeters, some types have a pointer on a dial, but most have a digital display. However, unlike an ammeter, you must connect the voltmeter in parallel to measure the potential difference across a component in a circuit. 

[image: Shows a circuit with a cell, a lamp, and a voltmeter. The voltmeter is connected in parallel to the lamp]When two components are connected in parallel, you cannot follow the circuit through both components from one side to the other without lifting your finger or going back over the path you have already taken.








Exercise 1A
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Exercise 1B
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Electric charge
Some particles carry an electric charge. In electric wires these particles are electrons. We get an electric current when these charged particles move from place to place.

Electric current
An electric current is a flow of charge, and in a wire this will be a flow of electrons. We need two things for an electric current to flow:
· something to transfer energy to the electrons, such as a battery or power pack
· a complete path for the electrons to flow through (an electric circuit)
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Bulbs in series

switch
CLOSED

The bulbs are dim.

The current is .............. because it is
harder for it fo travel through both
bulbs. We say that there is a high
.................................... The current does not
get used up as it fravels around the
circuit. The ........cccccconeeeeevneeee.. gives the
same reading anywhere in the circuit.

voltage small bright

resistance larger

/ | AN
The bulbs are much brighter.

Both bulbs are connected directly
across the two batteries therefore
they are given the full ...
The current is .............. because it is
easier for it to flow around the circuit.
If another bulb was connected in
parallel they would still be as ...

ammeter
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Exercise 2 - Study the two circuit diagrams below and then try to complete the sentences.

circuit 1 circuit 2

1) If the switch is opened in circuit 1 both bulbs would
2) If bulb A is removed from circuit 1 bulb B would get
3) If switch 1 is opened in circuit 2 only bulb would light up.
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The effect of increasing the voltage.

The diagram opposite shows what happens if two batteries
are put into the circuit. Carefully compare it to the first
diagram at the top of this page and then try to complete
the missing words in the passage below.

Voltmeter
reads 3 V

A battery pushes out the C _ _ _ _ _ _ The
voltage across both batteries can be measured i
usinga V _ _ _ _ _ _ _ _ With two batteries
there is T _ _ _ _ as much voltage. This
produces twice the current and so the bulb is
muchB The negative end of one ‘l‘
battery must be connected tothe P _ _ _ _ _ _ _ —> « —>
end of the other battery. If they are connected |

The bulb is much brighter.
the wrong way round the current will not F _ _ _ J

switch
CLOSED
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